Vendor:

Vendor Information:

Customer Service &
Technical Support:

Order Procedures:

Stock Orders:

Emergency Orders:

Minimum Order Quantity:

Freight Policy:

Free Freight Policy:

Order Fulfillment Policy:

Part Number Pricing &
Format:

Format:

Mega Fleet:

Warranty:

Returns:

Shipping Inspection and
Damaged Product:

Vendor Cross Reference
Web Site:

From Velvac:

PA-2011-41
06-01-12 04.08.PM

Velvac

Velvac offers a large variety of parts including Air Products, Electrical Products, Fittings and Hardware, Fuel System Products,
Hose Support Products, Mirrors, Back-up Alarms, Camera Systems and other many Retail Merchandising products.

Hino Parts Support Phone: 866-372-4466

Hino Parts Support Email: helpdesk@hino.com
Hino Parts Support Fax: 662-342-3939

Velvac Phone: (800) 783-8871

Velvac Email: sales@velvac.com

Velvac Fax: (262) 786-4101

All orders are to be placed through the Hino Dealer Connect System (DCS). Velvac parts will ship through New Berlin, WI and
the Hino PDC.

Enter orders in DCS Screen DC202 under Sales Type “S”.

Emergency orders may be entered into DCS screen DC202 as a Sales Type “E” or "V". All emergency orders will be processed
with a “rush” order. Freight and Handling fees will be identified on the Hino invoice.

MOQ's are dictated by item, please view DC202 to identify the MOQ associated with the part.

All orders will be shipped out of the Velvac PDC in New Berlin, W1 or Southaven, MS (Hino PDC) depending on product and

facina dealer location. unless otherwise specified. All orders will be shioped via the most efficient method LTL or TL carrier.
$250 to achieve Free Freight in the 48 continuous states. Orders under $250 are freight prepaid and added to the invoice. For

locations outside of the continuous 48 states, Hino will pay freight to the border such as Miami or Los Angeles depending on the
location of the dealer. See additional freight policies below for this product.

The standard order processing time is 2 business days from date of order placement.

Pricing will be available on-line in the Hino DCS system. In addition, the prices will be forwarded to your service bureaus within
two weeks of each pricing update.

Standard Velvac Part numbers as listed in the Velvac Product Catalog are directly carried over; no prefix or suffix.

All-Makes parts are not included in the Hino Mega Fleet pricing file but should be sold to Mega Fleet customers and filed as
Miscellaneous Items in Corcentric when submitting for reimbursement.

Please view Vendor warranty documents as warranty varies based on item. Contact vendor directly for a RGA approval number.
Warranty covers manufacturers defects only and does not cover damage (installation or progressive). If the vendor provides a
RGA number, contact Hino Trucks warranty department. Warranty claims are to be sent back through Hino Trucks corporate.

Contact vendor directly to obtain a Return Goods Authorization code by phone number or email address listed above. All
returned items MUST have prior approval and the Return Goods Authorization (RGA) marked on the outside of the box.

All merchandise should be inspected upon arrival and carrier damage claims should be filed with the carrier immediately. We
are not responsible for, nor are we in a position to make a claim after the freight carrier accepts the shipment from us. For
excess stock returns, contact the Vendor directly.

Product catalogs can be found http://www.velvac.com/catalog.htm.

Velvac's product line also expanded over the years and now includes over 3000 popular vehicle components. The Velvac wide
angle mirror system is recognized as the industry standard by walk-in van manufacturers and delivery fleets, and its recreational
vehicle mirror division services over 90% of the RV market's OEMs. As a leading supplier to truck equipment and RV
aftermarkets as well as heavy truck, recreational and specialty vehicle OEMs, Velvac continually upgrades and expands its
operations and quality systems to improve customer satisfaction and the reliability of its broad product line while developing and
manufacturing innovative new products to meet customers' changing needs. Coupling those ideals with the written guarantee
behind every component offered gives the full picture of what Velvac stands for.



Information on some of Velvac’s Top Sellers!

Hino Motor Sales U.S.A. reserves the right to make changes, including change in price, content, description, terms, time period, etc. at any time without notice.

Hino Motors PDC, 8425 Airways Blvd, Suite 101, Southaven, MS 38671-5146
866-372-4466 www.hino.com



Information on some of Velvac’s Top Sellers!

Hino Motor Sales U.S.A. reserves the right to make changes, including change in price, content, description, terms, time period, etc. at any time without notice.

Hino Motors PDC, 8425 Airways Blvd, Suite 101, Southaven, MS 38671-5146
866-372-4466 www.hino.com



Information on some of Velvac’s Top Sellers!

Hino Motor Sales U.S.A. reserves the right to make changes, including change in price, content, description, terms, time period, etc. at any time without notice.

Hino Motors PDC, 8425 Airways Blvd, Suite 101, Southaven, MS 38671-5146
866-372-4466 www.hino.com



Information on some of Velvac’s Top Sellers!

Hino Motor Sales U.S.A. reserves the right to make changes, including change in price, content, description, terms, time period, etc. at any time without notice.

Hino Motors PDC, 8425 Airways Blvd, Suite 101, Southaven, MS 38671-5146
866-372-4466 www.hino.com



Information on some of Velvac’s Top Sellers!

Hino Motor Sales U.S.A. reserves the right to make changes, including change in price, content, description, terms, time period, etc. at any time without notice.

Hino Motors PDC, 8425 Airways Blvd, Suite 101, Southaven, MS 38671-5146
866-372-4466 www.hino.com



4/5112

Velvac, Inc.

Velvac Inc. - Fixed Arm Side View Hood Mount Mirror

2405 S. Calhoun Road, New Berlin, WI 53151-2709
Toll Free: 800.783.8871 « Phone: 262.786.0700 « Fax: 262.786.4101

E-Mail:

Fixed Arm Side

* Website:

View Hood Mount Mirror

Check up to five results to perform an action.

Results1-9 of 9
Item Number
714625
714623

714624 Kit with 8.5" DuraBall Wide View (Velvac)

Results1 -9 of 9

Description
Bracket Only (Velvac)

Kit with 8.5" DuraBall Convex (Velvac)

Bracket Only (K-10)

Kit with 8.5" Eyeball Mirror (K-10)
Kit with 8.5" K-10 Convex (K-10)
Bracket Only (K-10)

Kit with 8.5" Eyeball Mirror (K-10)
Kit with 8.5" K-10 Convex (K-10)

Note
Lane Changes
Lane Changes
Lane Changes
K-10 Slant Arm
K-10 Slant Arm
K-10 Slant Arm
K-10 Angle Arm
K-10 Angle Arm
K-10 Angle Arm

velvac.thomasnet.com/printitems/.../t-assemblies-fixed-arm-side-view-hood-mount-mirror?&measures. ..

m7m



4/5112

Velvac, Inc.
2405 S. Calhoun Road, New Berlin, W1 53151-2709

Velvac Inc. - Universal Adjustable Hood Mount Mirror

Toll Free: 800.783.8871 « Phone: 262.786.0700 « Fax: 262.786.4101

E-Mail:

* Website:

Universal Adjustable Hood Mount Mirror
Check up to five results to perform an action.

Results1 -7 of 7

Item
Number

Description

Bracket Only for 714620 and
714621 (Velvac)

Kit with 8.5" DuraBall Convex
(Velvac)

Kit with 8.5" DuraBall Wide View
(Velvac)

Bracket Only (K-10)

Bracket Only for 716915 amd
716914 (K-10)

Kit with 8.5" Eyeball Mirror (K-10)

Kit with 8.5" K-10 Convex (K-10)

Results1 -7 of 7

=N TN

velvac.thomasnet.com/printitems/.../-assemblies-universal-adjustable-hood-mount-mirror?&measureso...

n
N
[

8.5"
dia.

8.5"
dia.
8.5"
dia.

N/A

N/A
8.5"
dia

8.5"
dia.

Flat/Convex

Glass
N/A

Standard
Convex

Wide View
Convex

Standard

N/A

N/A

Convex

Side

Either

Either

Either

Either

Either

Either

Either

Note
Velvac kit with bent and
straight arms

Kit with bent and straight
arms

Kit with bent and straight
arms

K-10 kit with straight arm
only

Kit with bent arm only

Kit with bent arm only

Kit with bent arm only

m7m



4/5112

Velvac, Inc.

Velvac Inc. - Fixed Arm Dual View Hood Mount Mirror

2405 S. Calhoun Road, New Berlin, WI 53151-2709
Toll Free: 800.783.8871 « Phone: 262.786.0700 « Fax: 262.786.4101

E-Mail:

* Website:

Fixed Arm Dual View Hood Mount Mirror
Check up to five results to perform an action.

Results1-10 of 10

Item Number
714626
714627

714629 Fixed Arm Dual View Hood Mount Mirror Kit
714630 Bracket Only for 714626 and 714628 (Velvac)
714631 Bracket Only for 714627 and 714629 (Velvac)

Results1 -10 of 10

=N TN

Description
Kit with 8.5" DuraBall Convex (Velvac)

Kit with 8.5" DuraBall Convex (Velvac)
Kit with 8.5" DuraBall Wide View Convex

Bracket Only for 716913 (K-10)
Kit with 8.5" Eyeball Mirror (K-10)
Bracket Only 716922 (K-10)
Kit with 8.5" Eyeball Mirror

Size Flat/Convex Glass Side
8-1/2" dia. Standard Convex Right
8-1/2" dia.  Standard Convex  Left
8-1/2" dia. Wide View Convex Right
8-1/2" dia. Wide View Convex Left
8-1/2" dia. N/A Right
8-1/2" dia. N/A Left

N/A N/A Right

8.5" dia. N/A Right

N/A N/A Left

8.5" dia. N/A Left

velvac.thomasnet.com/printitems/.../t-assemblies-fixed-arm-dual-view-hood-mount-mirror?&measures...

m7m



Velvac Mirror Display

One of the proven methods to increase sales is to display product. Velvac now offers a 3-sided spinner display complete
with an assortment of popular mirrors. When you order 690110, you receive the following:

Display
Display includes:
1 - 3-sided spinner display (60" x 16”)
3 - Headers & 3 Velvac Signs
25 - 4” Peg hooks
7 - Brackets to mount mirrors to display
Plus: Plan-o-gram, out-of-stock tags and
installation instructions

Side 2 — Other Convex Mirrors
10 - 708520 (5”) (5 for display)

8 —708521 (5”) (2 for display)
10 - 708515 (6”) (4 for display)
10 -708509 (7 ¥%4”) (5 for display)
10 -708508 (7 4") (4 for display)

Side 1 — 8 %” Convex Mirrors

690110
(Includes: Display & Mirror Assortment)

12 — 708501 (7 for display)
12 — 708502 (6 for display)
6 — 708556 (2 for display)
6 — 708503 (2 for display)

Side 3 — West Coast Mirrors
& Stick-On Mirrors

10— 705038 (1 for display)

8 — 705333 (3 for display)

6 — 705107 (2 for display)

6 — 708331 (2 for display)

6 — 705335 (2 for display)
Plus: 10 each of: 723050, 723060,
723065, 723075 (4 ea for display)

Velvac Incorporated 2405 South Calhoun Road, New Berlin, W1 53151-2709
PH# 800-783-8871 262-786-0700 Fax 262-786-4101

sales@velvac.com

www.velvac.com

TE1106



mailto:sales@velvac.com

Product Line Category Part # Description
Air Gladhands 035042 EMERGENCY GLADHAND ALUMINUM
035045 SERVICE GLADHAND ALUMINUM
035032 EMERG.GLADHAND WITH POLY SEAL RED
035038 UNIVERSAL GLADHAND ALUMINUM
035033 SERV.GLADHAND WITH POLY SEAL BLUE
Seals 035007 RUBBER GLADHAND SEAL - FLAT
Coiled Nylon Air Hose Kits 022025 15' COILED NYLON AIR HOSE ASSEMBLY
Air Hose Assemblies 148024 AIR HOSE ASSEMBLY 1/2 X 3/8 X 24
148036 AIR HOSE ASSEMBLY 1/2 X 3/8 X 36
Nylon Tubing 020064 NYLON TUBING 1/4"ODX 100' COIL BLACK
020053 NYLON TUBING 3/8"OD X 100'COIL BLACK
Valves 320131 4-WAY ELECTRONIC SOLENOID VALVE
320121 4-WAY PUSH/PULL VALVE TWO POSITION
032086 PRESSURE PROTECTION VALVE 65-75 PSI
Air Cylinder 100124 AIR CYLINDER 2-1/2" X 8" STROKE
Air Tank 035105 AIR TANK 9.5" DIA. 1488 CU.IN
Air Tank Accessories 032082 DRAIN VALVE WITH 5' CABLE
036019 AIR TANK DRAIN COCK - BACK SEATING
031033 AIR BRAKE DIAPHRAGM TYPE 30
Electrical Cable Assemblies 590157 7-WAY COILED CABLE 6/14,1/12 X 15'
590161 7-WAY ABS COILED CABLE 12" LEAD 15'
590163 7-WAY ABS COILED CABLE 40" LEAD 15'
Plugs 593022 7-WAY SINGLE GRIP PLUG W/ SPRING
593057 7-WAY T-GRIP PLUG WITH SPRING
Sockets 593084 7-WAY SOCKET WITH SPLIT PINS
Primary Wire 051135 PRIMARY WIRE 14 GA X 100' BLACK
051139 PRIMARY WIRE 14 GA X 100' RED
Battery Cables, Terminals 058068 BATTERY STUD NUT 3/8" S.STEEL
058016 HEAVY-DUTY BATTERY TERMINAL
058118 STUD TOP BATTERY CABLE 2/0 GA 8"
Battery Lugs 056039 BATTERY LUG 2/0 GA 3/8 STUD
Switches 090188 TOGGLE,SPST,ON-OFF,50AMP CHRM HANDLE
090177 TOGGLE,SPST,ON-OFF,HEAVY DUTY,20AMP
Relays 091231 RELAY 40 AMP 5 TERMINAL
Flashers 091215 ELECTRO-MECHANICAL FLASHER 1-10 LAMP
Circuit Breakers 091003 HIGH AMP CIRCUIT BREAKER - 150 AMP
Fuse Holder 091190 ATC/ATO IN-LINE FUSEHOLDER
Connectors 058313-40 HT SHRNK BUTT CNTR 16-14, 40 PACK
Cable Ties 090070-25 14" BLACK NYL CABLE TIES - UV, 25 PK
Clips & Grommets 021007 TUBE CLIP 3/8" OD
021021 WIRE CLIPS 1/4"
021009 TUBE CLIP 1/2" OD
Back-Up Alarms 697112 BACK-UP ALARM 112 DECIBEL
697107 BACK-UP ALARM 107 DECIBEL
697097 BACK-UP ALARM 97 DECIBEL
Fittings Push-Lock 016640 PUSH-LOCK FULL UNION 1/4
016660 PUSH LOCK FULL UNION 3/8
Nylon Air Brake Tube 016360 NYLON AIR BRAKE TUBE SLEEVE 3/8
016340 NYLON AIR BRAKE TUBE SLEEVE 1/4
016380 NYLON AIR BRAKE TUBE SLEEVE 1/2
016260 NYLON AIR BRAKE TUBE UNION 3/8
016240 NYLON AIR BRAKE TUBE UNION 1/4
Air Brake Compression 010087 NYLON TUBING INSERT 1/4"
010089 NYLON TUBING INSERT 3/8"
010094 NYLON TUBING INSERT 1/2"
Reusable 500005 FITTING SLEEVE 3/8"
500009 FITTING ASSEMBLY 3/8" X 3/8"
500025 FITTING ASSEMBLY W/SPRING 3/8"X 3/8"
Clamping Stud 035079 CLAMPING STUD
Collet 011000 SLOTTED COLLET 1/8"
Pipe 016081 REDUCER BUSHING 3/8 X 1/4 BRASS
016084 REDUCER BUSHING 1/2 X 3/8 BRASS
Mini Clamps 022204 MINI CLAMP 7/32 - 5/8
Spring Loaded T-Bolt Clamp 022626 SPRING T-BOLT CLAMP 4-1/16 - 4-3/8
Constant Torque Clamp 022430 CONSTANT TORQ CLAMP 2-1/4 - 3-1/8
Clevis Pin 019069 CLEVIS PIN 1/2" X 1-19/32" LONG
Fuel Brass Fuel Caps 600007 2"FEMALE VENTED NON-LOCKING FUEL CAP
Aluminum Fuel Caps 600184 3" FEMALE VENTED NON-LOCKING CAP
Hose Support Hose Support Accessories 038003 HOSE SUPPORT SPRING 1" X 13" LONG
580037 2-HOSE SEPARATOR
Accessories Tarp Straps 580115 RUBBER TARP STRAP, HEAVY DUTY, 21"
Wiper Blades W22 WINTER UNIVERSAL BLADE 22"
W20 WINTER UNIVERSAL BLADE 20"
Mirrors Blind Spot Convex Mirrors 708501 8-1/2 CENTER MOUNT CONVEX S.STEEL
708502 8-1/2 OFFSET MOUNT CONVEX S.STEEL
708520 5" CENTER MOUNT CONVEX S.STEEL
West Coast 705038 6X16 ECONOMY ALUMINUM MIRROR HEAD




AIR PRODUCTS

CATEGORY ITEM DESCRIPTION CATEGORY ITEM DESCRIPTION
GLADHANDS AIR VALVES, PULL VALVES, SAFETY VALVES, CONTROL VALVES
035042 EMERGENCY GLADHAND ALUMINUM 320131 4-WAY ELECTRONIC SOLENOID VALVE
035045 SERVICE GLADHAND ALUMINUM 320121 4-WAY PUSH/PULL VALVE TWO POSITION
035032 EMERG.GLADHAND WITH POLY SEAL RED 032086 PRESSURE PROTECTION VALVE 65-75 PSI
035038 UNIVERSAL GLADHAND ALUMINUM 032037 3-WAY UNIVERSAL AIR TOGGLE VALVE
035033 SERV.GLADHAND WITH POLY SEAL BLUE 032195 RAPID DUMP AIR SUSPENSION VALVE
035031 UNIV.GLADHAND WITH POLY SEAL BLACK 032015 QUICK RELEASE VALVE 3/8 X 3/8
035093 37 DEGREE EMERGENCY GLADHAND 032192 UNIV. FAN CLUTCH SOLENOID KIT
035092 37 DEGREE SERVICE GLADHAND 032131 AIR GOVERNOR D-2 STYLE
035095 SHUT-OFF EMERGENCY GLADHAND 032019 INLINE QUICK RELEASE VALVE - TRUCK
035094 SHUT-OFF SERVICE GLADHAND 032138 ON-OFF AIR CONTROL VALVE
030092 1/4" EXHAUST PORT FILTER 2-PACK
SEALS 032229 AIR TOGGLE VALVE - PADDLE
035007 RUBBER GLADHAND SEAL - FLAT 036043 LOW VACUUM WARNING BUZZER
035141 THE GUARDIAN GLADHAND SEAL 320051 3-WAY SOLENOID VALVE 12 VOLT
035009 POLYURETHANE GLADHAND SEALS - RED 034025 R-12 RELAY VALVE - VERTICAL PORTS
035010 POLYURETHANE GLADHAND SEALS - BLUE 032018 QUICK RELEASE VALVE 3/8 X 1/2
035164 GLADHAND SEAL, ENERGY SUSP, RED 030075 SAFETY VALVE
035165 GLADHAND SEAL, ENERGY SUSP, BLUE 320122 4-WAY PUSH/PULL VALVE HOLDING TYPE
032231 AIR TOGGLE VALVE - BLADE
GLADHAND ACCESSORIES 032194 3-WAY UNIVERSAL SOLENOID
035150 GLAD-LOCK ASSEMBLY WITH 2 KEYS 032219 PRESSURE PROTECTION VALVE 1/2 INLET
035037 DUMMY COUPLING NON-VENTED 032020 INLINE QUICK RELEASE VALVE-TRACTOR
035070 GLADHANDL GLADHAND GRIPS 030074 ADJUSTABLE SAFETY VALVE
035178 GLADHAND EXTENSION HANDLES 032225 AIR-ELECTRIC TOGGLE VALVE - PADDLE
035036 DUMMY COUPLING VENTED 036036 STOPLIGHT SWITCH
580042 STOW-A-WAY GLADHAND/PLUG HOLDER
AIR CYLINDERS
COILED NYLON AIR HOSE ASSEMBLIES 100124 AIR CYLINDER 2-1/2" X 8" STROKE
022025 15' COILED NYLON AIR HOSE ASSEMBLY 100123 AIR CYLINDER 2-1/2" X 6" STROKE
022001 15' COILED NYLON AIR HOSE ASSEMBLIES 100122 AIR CYLINDER 2-1/2" X 4" STROKE
022002 12' COILED NYLON AIR HOSE ASSEMBLIES 100137 AIR CYLINDER 3-1/2" X 8" STROKE
022028 5TH WHEEL SLIDER COIL 100101 5TH WHEEL AIR CYLINDER
022005 15' COILED NYLON AIR HOSE- EMERGENCY 100131 AIR CYLINDER 3-1/2" X 6" STROKE
022026 15' COILED NYLON AIR HOSE -EMERGENCY 100132 AIR CYLINDER 3-1/2" X 8" STROKE
022008 15' COILED NYLON AIR HOSE - SERVICE
022027 15' COILED NYLON AIR HOSE - SERVICE AIR TANKS
035105 AIR TANK 9.5" DIA. 1488 CU.IN
AIR HOSE ASSEMBLIES 035106 AIR TANK 9.5" DIA. 1488 CU.IN
148024 AIR HOSE ASSEMBLY 1/2 X 3/8 X 24 035108 AIR TANK 12" DIA.2850 CU.IN
148036 AIR HOSE ASSEMBLY 1/2 X 3/8 X 36 = 035104 AIR TANK 9.5" DIA. 1488 CU.IN
146036 AIR HOSE ASSEMBLY 3/8 X 3/8 X 36 : 035102 AIR TANK 8" DIA.1425 CU.IN
148030 AIR HOSE ASSEMBLY 1/2 X 3/8 X 30 035101 AIR TANK 8" DIA.1425 CU.IN
146024 AIR HOSE ASSEMBLY 3/8 X 3/8 X 24
148028 AIR HOSE ASSEMBLY 1/2 X 3/8 X 28 AIR TANK ACCESSORIES, AIR BRAKE DIAPHRAGMS
148048 AIR HOSE ASSEMBLY 1/2 X 3/8 X 48 032082 DRAIN VALVE WITH 5' CABLE
146030 AIR HOSE ASSEMBLY 3/8 X 3/8 X 30 036019 AIR TANK DRAIN COCK - BACK SEATING
148060 AIR HOSE ASSEMBLY 1/2 X 3/8 X 60 031033 AIR BRAKE DIAPHRAGM TYPE 30
148032 AIR HOSE ASSEMBLY 1/2 X 3/8 X 32 036003 AIR TANK DRAIN COCK - LEVER HANDLE
146048 AIR HOSE ASSEMBLY 3/8 X 3/8 X 48 032058 DRAIN VALVE WITH 4' CABLE
146028 AIR HOSE ASSEMBLY 3/8 X 3/8 X 28 036021 AIR TANK DRAIN COCK - WING HANDLE
146040 AIR HOSE ASSEMBLY 3/8 X 3/8 X 40 032160 DRAIN VALVE WITH 5' CABLE
146060 AIR HOSE ASSEMBLY 3/8 X 3/8 X 60 031027 AIR BRAKE DIAPHRAGM TYPE 20
146072 AIR HOSE ASSEMBLY 3/8 X 3/8 X 72 034046 AD-SP AIR DRYER CARTRIDGE
148042 AIR HOSE ASSEMBLY 1/2 X 3/8 X 42 032135 DRAIN VALVE WITH 3' CABLE
148026 AIR HOSE ASSEMBLY 1/2 X 3/8 X 26
NYLON TUBING
020064 NYLON TUBING 1/4"0ODX 100' COIL BLACK
020053 NYLON TUBING 3/8"0D X 100'COIL BLACK
020055 NYLON TUBING 1/2"0D X 100'COIL BLACK
020053-7 NYLON TUBING 3/8"0D X 500'COIL BLACK
020057 NYLON TUBING 5/8"0D X 100'COIL BLACK
020064-6 NYLON TUBING 1/4"0ODX 1000'COIL BLACK
020156 NYLON TUBING 3/8"0OD X 100' COIL RED
020136 NYLON TUBING 3/8"0D X 100' COIL BLUE
020062 NYLON TUBING 1/8"0OD X 100'COIL BLACK
020065 NYLON TUBING 5/32"0D X 100' BLACK




ELECTRICAL PRODUCTS

|ITEM

CATEGORY ITEM DESCRIPTION CATEGORY DESCRIPTION
CABLE ASSEMBLIES SWITCHES
590157 7-WAY COILED CABLE 6/14,1/12 X 15' ) 090188 TOGGLE,SPST,ON-OFF,50AMP CHRM HANDLE
590161 7-WAY ABS COILED CABLE 12" LEAD 15' ) 090177 TOGGLE,SPST,ON-OFF,HEAVY DUTY,20AMP
590163 7-WAY ABS COILED CABLE 40" LEAD 15' o w 090190 PUSH BUTTON SWITCH 50AMP/12V 2-SCREW
590155 7-WAY COILED CABLE 6/12,1/10 X 15' e | 090104 BATTERY DISCONNECT SWITCH
590156 7-WAY COILED CABLE 6/14,1/12 X 12' = 090210 TOGGLE FULL BOOT - BLACK
590159 7-WAY COILED CABLE 6/12,1/10 X 15' 090212 TOGGLE SAFETY COVER
590166 7-WAY ABS STRAIGHT CABLE 15' 090176 TOGGLE,SPST,ON-OFF,HEAVY DUTY,20AMP
590061 6-WAY COILED CABLE 6/14 X 12' 090191 TOGGLE,SPST,ON-OFF,RED LED PADDLE
590154 7-WAY COILED CABLE 6/12,1/10 X 12' 090180 TOGGLE,SPST,ON-OFF,75AMP PUSH-PULL
590160 7-WAY ABS COILED CABLE 12" LEAD 12"
HD RELAYS
PLUGS 091231 RELAY 40 AMP 5 TERMINAL
593022 7-WAY SINGLE GRIP PLUG W/ SPRING 091230 RELAY WITH DIODE 40 AMP 5 TERMINAL
593057 7-WAY T-GRIP PLUG WITH SPRING 091231-7 RELAY 40 AMP 5 TERMINAL
055049 6-WAY PLUG W/SPRING
055050 6-WAY PLUG FLASHERS
055054 4-WAY PLUG 091215 ELECTRO-MECHANICAL FLASHER 1-10 LAMP
591010 6-WAY ROUND TO 7-WAY ADAPTER 091212 ELECTRO-MECHANICAL FLASHER 2-20 LAMP
054002 7-WAY BLADE TYPE SOCKET FOR RV 091216 ELECTRO-MECHANICAL FLASHER 1-10 LAMP
054001 7-WAY BLADE TYPE PLUG FOR RV
593116 2-POLE PLUG WITH SPRING CIRCUIT BREAKERS
591113 SINGLE POLE SOCKET 091003 HIGH AMP CIRCUIT BREAKER - 150 AMP
591009 7-WAY PIN TO 6-WAY ADAPTER 091075 CIRCUIT BREAKER 30 AMP BLADE STYLE
091073 CIRCUIT BREAKER 20 AMP BLADE STYLE
SOCKETS & ACCESSORIES
593084 7-WAY SOCKET WITH SPLIT PINS FUSES & HOLDERS
593083 7-WAY SOCKET WITH SOLID PINS 091190 ATC/ATO IN-LINE FUSEHOLDER
055052 6-WAY SOCKET 091130 ATC/ATO IN-LINE FUSEHOLDER W/FUSE
054017 RUBBER BOOT FOR 7-WAY SOCKET 091184-5  ATC/ATO FUSE 30 AMP
055056 4-WAY SOCKET 091182-5  ATC/ATO FUSE 20 AMP
593121 2-POLE SOCKET 091181-5  ATC/ATO FUSE 15 AMP
593052 7-WAY CIRCUIT BREAKER SOCKET 20 AMP 091325 ATM/MINI ADD-A-CIRCUIT
091426 ATM/MINI IN-LINE FUSEHOLDER W/COVER
BULK BATTERY CABLE 091307-5  ATM/MINI FUSE 20 AMP
058043 BATTERY CABLE 2/0 GA X 25' BLACK 091180-5 ATC/ATO FUSE 10 AMP
058235 BATTERY CABLE 4 GA X 25' BLACK 091309-5  ATM/MINI FUSE 30 AMP
058043-7 BATTERY CABLE 2/0 GA X 100' BLACK 091306-5  ATM/MINI FUSE 15 AMP
058035 BATTERY CABLE 4 GA X 25' RED
058235-7 BATTERY CABLE 4 GA X 100' BLACK TERMINALS & CONNECTORS
058313-40  HT SHRNK BUTT CNTR 16-14, 40 PACK
BULK MULTIPLE CONDUCTOR CABLE 056052-50  BUTT CONNECTOR VINYL 16-14 50 PK
050001 4 CONDUCTOR CABLE 14 GA X 100' 058314-40  HT SHRNK BUTT CNTR 12-10, 40 PACK
050007 6 CONDUCTOR CABLE 14 GA X 100' 056005-50  RING TNG 16-14 VYL/BLU 8-10STUD 50PK
050019 7 CONDUCTOR CABLE 6/12,1/10GA X 100' 058312-50  HT SHRNK BUTT CNTR 22-18, 50 PK
050042 7 CONDUCTOR CABLE 7/14 GA X 100' 056053-50  BUTT CONNECTOR VINYL 12-10 50 PK
056051-50  BUTT CONNECTOR VINYL 22-18 50 PK
MECHANIC'S WIRE
090162 MECHANIC'S WIRE 2 LB 16 GA ROLL HEAT SHRINK TUBING
090142 MECHANIC'S WIRE 2 LB 14 GA ROLL 057061-25  THIN WL SHRNK TUBE 2"16-14 BLU, 25PK
090165 MECHANIC'S WIRE 5 LB 14 GA ROLL 057059-10  HVY WL SHRINK TUBE 6" 8-1 BLK, 10 PK
090182 MECHANIC'S WIRE 2 LB 18 GA ROLL 057058-10  HVY WALL SHRINK TUBE 6"14-6 BLK 10PK
JACKETED PARALLEL WIRE SPLIT LOOM
051058 JACKETED PARALLEL WIRE 2/14 GA X100' 020104-7 NYLON SPLIT LOOM 1/4"ID X 100' SPOOL
| - 051050 JACKETED PARALLEL WIRE 2/16 GA X100' 020106-7 NYLON SPLIT LOOM 3/8"ID X 100' SPOOL
051066 JACKETED PARALLEL WIRE 2/12 GA X100' 020108-7 NYLON SPLIT LOOM 1/2"ID X 100' SPOOL
020104 NYLON SPLIT LOOM 1/4"ID X 250' SPOOL
PRIMARY WIRE 020112-7 NYLON SPLIT LOOM 3/4"ID X 100' SPOOL
051135 PRIMARY WIRE 14 GA X 100" BLACK
051139 PRIMARY WIRE 14 GA X 100' RED CABLE TIE STRAPS
051141 PRIMARY WIRE 14 GA X 100" WHITE 090070-25 14" BLACK NYL CABLE TIES - UV, 25 PK
051147 PRIMARY WIRE 14 GA X 100' BROWN T 090066-100 7" BLK NYLON CABLE TIES-UV, 100 PK
051153 PRIMARY WIRE 12 GA X 100' BLACK 090068-100 14" BLK NYL CBL TIES - UV, 100 PK
051157 PRIMARY WIRE 12 GA X 100' RED 090006-25 14" NYLON CABLE TIES, 25 PACK
051137 PRIMARY WIRE 14 GA X 100' GREEN 090014-100 7" NYLON CABLE TIES, 100 PACK
051145 PRIMARY WIRE 14 GA X 100' BLUE
051143 PRIMARY WIRE 14 GA X 100' YELLOW CLIPS & GROMMETS
021007 TUBE CLIP 3/8" OD
BATTERY CABLES & TERMINALS 021021 WIRE CLIPS 1/4"
058068 BATTERY STUD NUT 3/8" S.STEEL 021009 TUBE CLIP 1/2" OD
058016 HEAVY-DUTY BATTERY TERMINAL 021011 TUBE CLIP 5/8" OD
058118 STUD TOP BATTERY CABLE 2/0 GA 8" 021003 TUBE CLIP 1/4" OD
058019 MARINE TERMINAL 5/16" POST 021013 TUBE CLIP 3/4" OD
058017 STUD-TO-POST MOUNT TERMINAL 021017 TUBE CLIP 1" OD
057052 STRAIGHT BATTERY TERMINAL 2/0 GA POS 021065 RUBBER GROMMET 3/4"
057053 STRAIGHT BATTERY TERMINAL 2/0 GA NEG
058119 STUD TOP BATTERY CABLE 2/0 GA 12"
058071 THREE-WAY BATTERY TERMINAL 1-2/0 GA BACK-UP ALARMS
BATTERY LUGS BACK-UP ALARMS 697112 BACK-UP ALARM 112 DECIBEL
056039 BATTERY LUG 2/0 GA 3/8 STUD 697107 BACK-UP ALARM 107 DECIBEL
056037 BATTERY LUG 1/0 GA 3/8 STUD 697097 BACK-UP ALARM 97 DECIBEL
058086 BATTERY LUG 3/0 GA 3/8 STUD 699297 BACKUP ALARM, 97DB, STUD MT
058077 BATTERY LUG 4 GA 3/8 STUD 699097 97 DB BACK-UP ALARM
056040 BATTERY LUG 2/0 GA 1/2 STUD 697297 BACKUP ALARM, 97DB, WIRE TERMINATION
697087 BACK-UP ALARM 87 DECIBEL
ELECTRICAL TAPE 699107 107 DB BACK-UP ALARM
058382 ELECTRICAL TAPE 3/4" X 60' ROLL 697011 EXTERNAL SWITCH




FUEL PRODUCTS HOSE SUPPORT PRODUCTS
CATEGORY [ITEm [DESCRIPTION CATEGORY [ITEm | DESCRIPTION
BRASS FUEL CAPS HOSE & CABLE SUPPORT ACCESSORIES
600007 2"FEMALE VENTED NON-LOCKING FUEL CAP 038003 HOSE SUPPORT SPRING 1" X 13" LONG
600196-6 2" FEMALE LOCKING NON-VENTED CAP 580037 2-HOSE SEPARATOR
600009 2"FEMALE NON-VENTED/NON-LOCKING CAP 038005 HOSE SUPPORT SPRING 1-1/8"X 28" LONG
600133 2" FEMALE NON-VENTED NON-LOCKING CAP 580040 3-HOSE HOLDER
580039 2-HOSE HOLDER
ALUMINUM FUEL CAPS 580081 HOSE SUSPENDER 5"
600184 3" FEMALE VENTED NON-LOCKING CAP
600186 3" FEMALE VENTED NON-LOCKING CAP
600185-6 3" FEMALE VENTED LOCKING CAP 3
600168 4" FEMALE NON-VENTED NON-LOCKING CAP
600135 2" FEMALE VENTED NON-LOCKING CAP POGO STICKS
600180 4" FEMALE VENTED NON-LOCKING CAP 581040 POGO STICK 40" W/ HOSE SUSPENDER
600183-6 3" FEMALE VENTED LOCKING CAP 581001 POGO STICK 40" W/SNUBBER CHAIN
600081 REPLACEMENT GASKET FOR 3" FEMALE CAP 581005 POGO STICK 40" W/HOLDER & SNUBBER
581011 POGO STICK 40"
FUEL TANK VALVES
= 060071 RETURN FLOW SPLITTER VALVE HIGH FLOW
) 8 " 060050 BALL VALVE 1/2 FPT
\\kﬂ s 060064 FUEL TANK SAFETY VENT VALVE 1/2"-14
. 060062 FUEL TANK SAFETY VENT VALVE 1/2"-14
060026 FUEL LEVELING VALVE 1/2 FPT
060070 RETURN FLOW SPLITTER VALVE STD FLOW DOCUMENT HOLDERS
060040 FUEL TANK SAFETY VENT VALVE 1/4"-18 090115 9" ALUMINUM DOCUMENT HOLDER W/KEEPER
090060 LICENSE AND PERMIT HOLDER
ANTI-SIPHON TUBES | 090115-7 9" ALUMINUM DOCUMENT HOLDER W/KEEPER
ﬁ 600241 3"X7"ANTI-SIPHON, VOLVO/INT'L/MACK & {‘-:,: | B
, 600245 2" X 7.56" ANTI-SIPHON MED.DUTY
600242 2.5"X6.75"ANTISIPHON,VOLVO/MACK/INTL
ACCESSORIES
CATEGORY ITEM DESCRIPTION CATEGORY ITEM DESCRIPTION
RADIATOR CAPS WIPER BLADES
10237 RADIATOR CAP 3/4" NECK, STANT 10237 w22 WINTER UNIVERSAL BLADE 22"
10229 RADIATOR CAP, 3/4" DEEP, STANT#10229 w20 WINTER UNIVERSAL BLADE 20"
10283 RADIATOR CAP, 3/4" FILLER STANT10283 76-20 PREMIUM WIPER BLADE 20"
10282 RADIATOR CAP,3/4" FILLER STANT#10282 75-20 UNIVERSAL WIPER BLADE 20"
10294 RADIATOR CAP, 3/4"NECK STANT# 10294 76-18 PREMIUM WIPER BLADE 16"
10238 RADIATOR CAP, THREADED STANT #10238 75-22 UNIVERSAL WIPER BLADE 22"
72-18 CURVED WINDSHIELD HD WIPER 18"
71-15 FLAT WINDSHIELD HD BLADE 15"
TARP STRAPS
580115 RUBBER TARP STRAP, HEAVY DUTY, 21"
580114 RUBBER TARP STRAP, HEAVY DUTY 15"
580116 RUBBER TARP STRAP, HEAVY DUTY, 31"
580119 PREM HEAVY DUTY EPDM TARP STRAP 15"
580120 PREM HEAVY DUTY EPDM TARP STRAP 21"
580121 PREM HEAVY DUTY EPDM TARP STRAP 31"
580113 RUBBER TARP STRAP, HEAVY DUTY 9"




FITTINGS

CATEGORY [ITEM |DESCRIPTION CATEGORY [ITEM |DESCRIPTION

PUSH-LOCK AIR BRAKE FITTINGS PIPE FITTINGS
016640 PUSH-LOCK FULL UNION 1/4 016081 REDUCER BUSHING 3/8 X 1/4 BRASS
016660 PUSH LOCK FULL UNION 3/8 016084 REDUCER BUSHING 1/2 X 3/8 BRASS
016242 90 DEG. MALE SWIVEL ELBOW 1/4 X 1/8 017019 STREET ELBOW 3/8 BRASS
016142 PUSH-LOCK MALE CONNECTOR 1/4 x 1/8 017055 HEX HEAD PLUG 3/8 BRASS
016244 90 DEG. MALE SWIVEL ELBOW 1/4 X 1/4 016083 REDUCER BUSHING 1/2 X 1/4 BRASS
016680 PUSH-LOCK FULL UNION 1/2 017053 HEX HEAD PLUG 1/4 BRASS
016144 PUSH-LOCK MALE CONNECTOR 1/4 x 1/4 017027 45 DEG. STREET ELBOW 3/8 BRASS
016164 PUSH-LOCK MALE CONNECTOR 3/8 x 1/4 016052 CLOSE NIPPLE 1/4 BRASS
016166 PUSH-LOCK MALE CONNECTOR 3/8 x 3/8 017067 SQUARE HEAD PLUG 1/2 STEEL
016264 90 DEG. MALE SWIVEL ELBOW 3/8 x 1/4 016067 PIPE COUPLING 1/8 BRASS
016940 PUSH-LOCK UNION TEE 1/4 016003 PIPE TEE 3/8
016610 PUSH-LOCK FULL UNION 1/8 016068 PIPE COUPLING 1/4 BRASS
016266 90 DEG. MALE SWIVEL ELBOW 3/8 x 3/8 016079 REDUCER BUSHING 1/4 X 1/8 BRASS
016620 PUSH-LOCK FULL UNION 5/32 018007 ADAPTOR 3/8 X 1/4
016146 PUSH-LOCK MALE CONNECTOR 1/4 x 3/8 017017 STREET ELBOW 1/4 BRASS
016960 PUSH-LOCK UNION TEE 3/8 016087 REDUCER BUSHING 3/4 x 1/2 BRASS
016186 PUSH-LOCK MALE CONNECTOR 1/2 X 3/8 017057 HEX HEAD PLUG 1/2 BRASS
016162 PUSH-LOCK MALE CONNECTOR 3/8 x 1/8 017051 HEX HEAD PLUG 1/8 BRASS
016112 PUSH-LOCK MALE CONNECTOR 1/8 X 1/8 018010 HEX NIPPLE 1/4 BRASS
016222 90 DEG. MALE SWIVEL ELBOW 5/32 X 1/8 016070 PIPE COUPLING 1/2 BRASS

NYLON AIR BRAKE TUBE FITTINGS
016360
016340
016380
016260
016240
016864
016964
016866
016842
016280
016966
016942
016886
016160
016200
016944
016844
016300
016140
016986

AIR BRAKE COMPRESSION FITTINGS
010087
010089
010094
011003
011001

REUSABLE AIR HOSE FITTINGS
500005
500009
500025
500019
500051
500027
500031
500046
500015
142001

COUPLINGS, CLAMPING STUDS
035079
035021
035087
035081

DISCHARGE HOSE FITTINGS
142110

NYLON AIR BRAKE TUBE SLEEVE 3/8
NYLON AIR BRAKE TUBE SLEEVE 1/4
NYLON AIR BRAKE TUBE SLEEVE 1/2
NYLON AIR BRAKE TUBE UNION 3/8
NYLON AIR BRAKE TUBE UNION 1/4
NYLON AIR BRAKE MALE CONN 3/8X1/4
NYLON AIR BRAKE MALE ELBOW 3/8 X 1/4
NYLON AIR BRAKE MALE CONN 3/8X3/8
NYLON AIR BRAKE MALE CONN 1/4X1/8
NYLON AIR BRAKE TUBE UNION 1/2
NYLON AIR BRAKE MALE ELBOW 3/8 X 3/8
NYLON AIR BRAKE MALE ELBOW 1/4 X 1/8
NYLON AIR BRAKE MALE CONN 1/2X3/8
NYLON AIR BRAKE TUBE NUT 3/8

NYLON AIR BRAKE TUBE UNION 5/8
NYLON AIR BRAKE MALE ELBOW 1/4 X 1/4
NYLON AIR BRAKE MALE CONN 1/4X1/4
NYLON AIR BRAKE TUBE SLEEVE 5/8
NYLON AIR BRAKE TUBE NUT 1/4

NYLON AIR BRAKE MALE ELBOW 1/2 X 3/8

NYLON TUBING INSERT 1/4"
NYLON TUBING INSERT 3/8"
NYLON TUBING INSERT 1/2"
SPHERICAL COMPRESSION SLEEVE 3/8"
SPHERICAL COMPRESSION SLEEVE 1/4"

FITTING SLEEVE 3/8"

FITTING ASSEMBLY 3/8" X 3/8"

FITTING ASSEMBLY W/SPRING 3/8"X 3/8"
FITTING ASSEMBLY W/SPRING 3/8"X 1/2"
FITTING ASSEMBLY 1/2"X 3/8"

FITTING ASSEMBLY W/SPRING 3/8"X 1/4"
UNION ASSEMBLY 3/8"

SWIVEL FITTING 3/8"X 3/8"

FITTING ASSEMBLY 3/8"X 1/4"

SWIVEL BODY ADAPTER 3/8" X 3/8"

CLAMPING STUD

MALE CLAMPING STUD
FRAME COUPLING 3/8" FPT
FRAME COUPLING 1/4" FPT

FEMALE SWIVEL FITTING 5/8"

SLOTTED COLLETS & FULLER TRANSMISSION FITINGS

011000
011020
011032
012016

SLOTTED COLLET 1/8"

SLOTTED COLLET 5/32"

FULL UNION FULLER TRANSMISSION 1/8"
MALE CONNECTOR 1/8 X 1/16

CLAMPS, CLEVIS, CLEVIS PINS & COOLANT VALVES

HOSE CLAMPS

SPRING LOADED T-BOLT CLAMPS

N

£
L

T-BOLT CLAMPS
"‘W
f

CONSTANT TORQ CLAMPS

CLEVIS AND CLEVIS PINS

COOLANT SHUTOFF VALVES

022204
022206
022312
022310
022320
022110
022336
022316
022332
022112
022328
022308
022108
022306

022626
022586
022581
022582
022585
022583
022584

022592
022588

022430
022435
022445
022425
022440
022450
022424
022420
022416

019069
019070
019067
019006
019049
019013
019002

023128
023108
023066

MINI CLAMP 7/32 - 5/8

MINI CLAMP 7/16 - 25/32
SLOTTED CLAMP 11/16 - 1-1/4
SLOTTED CLAMP 9/16 - 1-1/16
SLOTTED CLAMP 13/16 - 1-3/4
LINER CLAMP 9/16 - 1-1/16
SLOTTED CLAMP 1-13/16 - 2-3/4
SLOTTED CLAMP 13/16 - 1-1/2
SLOTTED CLAMP 1-9/16 - 2-1/2
LINER CLAMP 11/16 - 1-1/4
SLOTTED CLAMP 1-5/16 - 2-1/4
SLOTTED CLAMP 1/2 - 29/32
LINER CLAMP 1/2-29/32
SLOTTED CLAMP 7/16 - 25/32

SPRING T-BOLT CLAMP 4-1/16 - 4-3/8
SPRING T-BOLT CLAMP 4-3/16 - 4-1/2
SPRING T-BOLT CLAMP 2-3/4 - 3-1/16
SPRING T-BOLT CLAMP 3-1/16 - 3-3/8
SPRING T-BOLT CLAMP 3-7/8 - 4-3/16
SPRING T-BOLT CLAMP 3-7/16 - 3-3/4
SPRING T-BOLT CLAMP 3-9/16 - 3-7/8

T-BOLT CLAMP 4-1/4 - 4-9/16
T-BOLT CLAMP 3-1/4 - 3-9/16

CONSTANT TORQ CLAMP 2-1/4 - 3-1/8
CONSTANT TORQ, CLAMP 2-3/4 - 3-5/8
CONSTANT TORQ CLAMP 3-3/4 - 4-5/8
CONSTANT TORQ CLAMP 1-3/4 - 2-5/8
CONSTANT TORQ CLAMP 3-1/4 - 4-1/8
CONSTANT TORQ CLAMP 4-1/4 - 5-1/8
CONSTANT TORQ CLAMP 1-1/16 - 2

CONSTANT TORQ CLAMP 13/16 - 1-3/4
CONSTANT TORQ CLAMP 13/16 - 1-1/2

CLEVIS PIN 1/2" X 1-19/32" LONG
UNIV. CLEVIS PIN 1/2" X 9/16" LONG
CLEVIS PIN 1/2" X 1-11/32" LONG
CLEVIS 1/2"-20 X 3" LONG

CLEVIS & PIN KIT 5/8"-18X1-7/8"LONG
CLEVIS 5/8"-18 X 2-5/16" LONG
CLEVIS 1/4"-28 X 2" LONG

COOLANT SHUTOFF VALVE 3/4X1/2 BRASS
COOLANT SHUTOFF VALVE 5/8X1/2 BRASS
COOLANT SHUTOFF VALVE 3/8X3/8 BRASS




BLIND SPOT CONVEX MIRRORS

I'f’.
5
L
DURABALL THREE SCREW BALL STUD K-10
Standard Glass Standard Glass Eyeball Convex
708501
708502
708520
708515
708509
708508
708556
708441
708521
708605
708444
708503
Rank Iltem Description
1 708501 8-1/2 CENTER MOUNT CONVEX S.STEEL
2 708502 8-1/2 OFFSET MOUNT CONVEX S.STEEL
3 708520 5" CENTER MOUNT CONVEX S.STEEL
4 708515 6" CENTER MOUNT CONVEX S.STEEL
5 708509 7-1/2 OFFSET MOUNT CONVEX S.STEEL
6 708508 7-1/2 CENTER MOUNT CONVEX S.STEEL
7 708556 8.5" CONVEX HEAD CHROME CENTER MOUNT
8 708441 8-1/2 CENTER MOUNT CONVEX S.STEEL
9 708521 5" CENTER MOUNT CONVEX BLACK STEEL
10 708605 10" EYEBALL SS K-10
11 708444 8-1/2 OFFSET MOUNT CONVEX S.STEEL
12 708503 8-1/2 CENTER MOUNT CONVEX BLACK




REAR CROSS VIEW MIRRORS SIDE & STUD MOUNT MIRROR HEADS
VELVAC VELVAC
Side Mount 6.5" X |Side Mount 6.5" x 6" | Stud Mount 6.5" x 6"
Straight Van Chassis App Walk-in Van App 10" Flat Glass Convex Convex
712643 704091 (-5)
713796 704032 (-5)
704095 (-5)
704077 (-5)
708156
ltem Description Item Description
712643 REAR CROSSVIEW MIRROR KIT S.STEEL 704091 WIDE ANGLE FLAT 6.5 X 10 S.STEEL
713796 REAR CROSSVIEW FOR CHEVY VAN WHITE 704032 WIDE ANGLE FLAT 6.5 X 10 WHITE STEEL
704095 WIDE ANGLE CONVEX 6.5 X 6 S.STEEL
704077 WIDE ANGLE CONVEX 6.5 X 6 WHITE
708156 6.5X6 STUD MOUNT CONVEX S.STEEL
|
\ \ \
ACCESSORY MIRRORS HOOD MOUNT MIRRORS

VELVAC VELVAC
Duraball Convex /
Stick-On Mirrors Over-The-Door Mirror Kit Wide View Velvac Tripod Value Tripod
723060 715779
715198 713444
723050 714621
723075 714620
723065 714623
714721
715778
ltem Description Item Description
723060 3" STICK-ON CONVEX 715779 3-BELL TRIPOD KIT WITH HEAD
715198 OVER-THE-DOOR MIRROR KIT 713444 3-BELL MIRROR KIT - STANDARD TRIPOD
723050 2" STICK-ON CONVEX 714621 MOD POD UNIV.ADJ ARM WIDE VIEW
723075 4" X 51/2" STICK-ON MIRROR 714620 MOD POD UNIV. ADJ ARM W/ STD CONVEX
723065 3-3/4" STICK-ON CONVEX 714623 MOD POD LANE CHANGE STD CONVEX
714721 3-BELL MIRROR KIT - SHORT TRIPOD

715778

3-BELL TRIPOD BRACKET KIT ONLY SS




WEST COAST & 7" X 16" V-BACK MIRRORS

ABRC ABRC/wML ABSC VBG

RB AEAB AEAB/wWSG VBB

=

N/I

Navistar/International West
Style West Coast Mirrors 7" X 16" V-Back Mirrors Coast Mirror
AEAB 705038
AEAB/wWSG 705107
ABRC 705333
ABRC 705335
ABRC/wML 708331
VBB 708005
VBG 705112
RB 705104
VBB 708001
ABSC 708525
AEAB 705111
N/I 708335
Rank Item Description
1 705038 6X16 ECONOMY ALUMINUM MIRROR HEAD
2 705107 6.5X16 ALUMINUM SPLIT GLASS MIRROR
3 705333 7X16 ANGLE BACK MIRROR S.STEEL
4 705335 7X16 ANGLE BACK HEATED MIRROR S.S
5 708331 7X16 HEATED ANGLE BACK WITH LIGHT
6 708005 7X16 V-BACK MIRROR S.STEEL
7 705112 7"X16" V-BACK MIRROR HEAD S.S.
8 705104 6.5X16 BLACK RIBBED BACK MIRROR
9 708001 7X16 V-BACK MIRROR BLACK
10 708525 7X16 HEATED ANGLE BACK S.STEEL
11 705111 6"X16" MIRR ANGLE BACK W/AL END CAP
12 708335 WEST COAST MIR HD, FLANGE MNT ALUM




	Velvac ALL - QR & Top Sellers 08-04-11
	Mirror Display Flyer 2011
	Velvac ALL - QR & Top Sellers 07-28-11
	1 TOP MOVERS WOP
	1 AIR -100 wp 211F
	1 ELEC 4 wp 211F
	1 F+H+A 56 wp 211F
	1 FITTINGS 3 wp 211F
	1 Mirror BSC wp 211F
	1 Mirror Rear Cross View + Side Mt + Acc + Hood MT wp 211F
	1 Mirror WC wp 211F





